
Example: 
 
 
Ie, 1511/2771 = 54.5% F, 45.5% M 
      959/2771 = 34.6%D, 35.8% I, 29.6%R 
So what would independence imply? 
 
 
 
 
6 diff ways of calculating the same thing! 
 
  
 

Dem Indep Rep Total 

Female 573 516 422 1511 

Male 386 475 399 1260 

Total 959 991 821 2771 

Dem Indep Rep Total 

Female .346 * 1511  
= 522.9 

.545 * 991  
= 540.4 

.545*.296*2771  
= 447.7 

1511 

Male 1260/2771*959 
= 436.1 

991/2771 * 1260 
= 450.6 

1260*821/2771  
= 373.3 

1260 

Total 959 991 821 2771 


